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1. The voiume of the solid obtained by rotating the region bounded by

,:,/"ir|i ,0<gr< r,t:0

about gr - 4 is given by

J _q
l, 2"1a, - y) /siny ay

l, z"y l"aas
l, ,"tn - 4)2 {sira ds

l" zry siny d,y

l, 2"1+ - y)2 sins d,y

(u)

(b)

(c)

(d)

(")

L
X - srnr,l

a(

"d"'q-e)'NI[
2. The average value of f (4 :l# over [4,9] is eoual to: 

a4z(/+l
(a lr.a+ry $, =*..[wl^
(b) T -';' tyl-n\tA : ,

(.) ;tT-Yl r.L=\wx =; IU. = &K_
(d) 6ln3-41n2-2 |

1 
(") 6tn3-!tn2z--22 {r=* =+r\=iq.

ol S,* -- [.r- [*r,]- f r]i
=k\*q - {\vrq;-Qz -D

s , [- - e\r,rt - A\r,q -9-' ./-clva .
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3. A number b that makes the average value of l@) - Z*6r -Ba2 over the

W";""*'{;' : l" _fq., x _ 3 
r I h

(b) ob
(c) ' fQ*6x-gt')/x _3t(d) fi;
(.) _!"r En* if - ,(]::3t(bt,

^t+ 3t:U. _ =U
-t13tiL' - =t\i-:t*\="--)L= 3-t_{B

./'(a) : 3 ana

o_(
4. Suppose that /(1) : 2, f(4) :7, l'(r) : 5,

is continuous. Then, the value of Il " f"(")

(u) , d I v\\
(b) -10
(c) 4

(d) 12

(") -8

(/-_- x -s, Ju..16
J"v - €.--,";i- - 

-= xx) 
"tX =l .J 

= l.rO

{ler/x=EIil'fr;
Vr-i,))-(Jro-I,; =

:i'p -f,,|-&q*1r) -{(r--q-:L,','l -}T+z:E)

+{tf +T"
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5. lrseczrar: $ /'/7O

(u) rtanr-rntsecrl+c ,ll:K:? Jf=JX.-,
(b) ranx r+c alV=S"q-X&X,=t\=*nv.tr
(") rranr-secr+c ( ^ ^ L n

8l"lTT,:':i1*:i:. ]*ffiK*^w(
C

-c.,(0 J",l

--ry-?u+c

(J-=- QoS L( -i J,w 
= _sr.rn u ,\,1..Ju --1;':."1r_rJ,

!(c"i'D -AGs(,[)tC

<- K\N\X f.'"\s..{ 1Q-

6. |","'ff) o, :

(u) lt.or'.6) - 2cos(1/i) + c

(b) 
'/5cos'11i1 

+ 2cos(1/r) + c

(c) 
lsin,(r) - rtsin(,/i) + c

(d) 
ls,31.a; - licos(Ji) + c

(.) 
].".'1.41 - 1/icos(1/i) + c

(^--J; -) Ju:-#Jx
^e 3 1., n
=) trvl Au[(l : { srr\rd"( |

d/+,2
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tn 167. Jo J, * cos2rdr :
\4
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45fuftT-

i:t f, j6,Lv
(.) \/, "o16 n 1G I

(d) ; dzJ l"sx\.l"n : €[ GsKl\(") + T --\(;{ z_ L=,"^j 
_ 

_ filf ^.1

-aL J

. 8. l{/n ,u"o xtan4 r dr : lr/r-l

a( /4++ r ."/sl 'no, '; . J t*l*r)*nilx, s.Jx,I4
(b) ,; .t, .,

(.) *.* Lt'=*tl.w(=)Jn=stlx[X

l]] ^{ JG'),^q Jr, \,E:,?\ ,1 tt tt:1.a
-le'* u){u-= h* L
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UL7 45.(O-:)
J-x -(secoannsf6
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J7-16'"
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1
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,16r-1a'"
'E -to(e) 16 +"

+C
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(b)
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(d)
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a+a
1

4
7f

,+r
1

8
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-t,
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U

.Lt.*
= {e*

rQ

tMAsrER I

St xrZb

"[tr16 : fres"..6 _T6
:- l.-rr,t'tb r

( ,tX =_(4sur&o,nU J.b
1,, *JrT J6

10. lrrc++:
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(r)

(b)

(.)

(d)

(")

12. If 13 - 2r2 - 4

rf5lnlr-51+C
1

;lnlr-51+C
I

lrlnlr-51+C
5lnlr-51+C

,
t. L+C

10

j€5
X1s\w\x-q \e

(u)

(b)

(")

(d)

(")

_t\

u3 - 2r2

t
-1
0

2

-2

.)5 t r-----=

q

So

*q
B e+

x--Zx'(x+O x1-

ql+q,

.-f(*frt "tx

ABC:'*;*;r*a-2 Then B+C:

x\x+O

-(+ - Axhre_tB(x+_)+ef

4= BLO
-Lt :4 c.--

E

3
::)

b:-Z

W
X-+ rIL

7------1- c_- \
---)



13. [ 1 a,:J e'*7
(Hint: Let u.: €r, then use partial fraction technique)
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(u) x -ln(e'+ 1) + C
(b) ln(e' - r) + C
(.) 1-ln(1*e")+C
(d) x-e"ln(r+1)+C
(u) -ln(c*e')*C
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ntAq=

-\r,. tda_ .)

1g
t4. [ | ar:J 1-cosz

"o /4
lv)(r)

(b)

(")

(d)

(.)

--,(|)+c
-,."(;) -t+c
-*" (i) * c
r-tan(i")."
."'(f)*c

I l-+L
l++t'

J_\L: --\(\\

'2-"\ t
l+ tr-

CJtJ(" +c-\

r=$ -) dr=J4xr0e&
(.tt cr+ ; ., , 

\
d u.urg -J€tfti) 

.,[,,(

o--\,,b_
\'^'\U\ _-\^\tr',+\ =\\ d
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15. rhe Improper Integral lr* Al#uo / {Ur:

I "ff'-::i:]": xL+gK-r- SgmD

, d.x16' lalz"*z:

x'+ l-X+ tr+ \

(c) Divergentto-m O-\, B: _\ 
t

l: :;".:],:;;i {. ju{lXlq' *f:\A)\frDl:=\uii\+r.^6
Aro\i-"

(u)

(b)

(.)

(d)

(.)

tan-l(o+1)+C
(c + r) tan-1({ + C

otan-l(r+1)+C
tan-l(r +2) + C

2tar;t(r+1)+C

-e )

IG,T "tx

J
_t_
ui r.

J,u'.

Lt=x1\-)
-\-_ \**.,'\\ilt C

+.(\tx")
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t7. [, L _a, =" /o*a -/o 1z-6;e'- 
- \\v\ fa (x-O'/o

(a) Diverges to I oo 
" 

+ 6t +(b) Divergesto-m _- 3__8
(") conversesto - I .:_\.*n IAL{) I
(d) Cor,,erg"rto] -tL-6f L =T- )t(e) converges to 4 

-\r,* t =r 
I \

".;d Lt, +El5lzj

18. The length of the curve f (*) - Ji -A + sin 1(ut1 over [0, 1] is equal 
-to: 

{"*r- t-z-L--.,.- t@)
(a) , JG.r-.. fr-r r-----,.-,",,
(b) , urJx_xL Zil\rl I_\

l-- x\ -K
dXln"

'll.-- 
r -4

[-t -x
x t\^ K)


